ELCE 2240 HOMEWORK #5 prob 2 solution
N. Cotter
EXx:
V1 10V Vs
Lo
/
Ry 2 Ry 6V +>
=2kQ =1kQ sy
V3 N R5;=15kQ
W, VA —1v4
R; 2 Ry ov(* Re 2
AR
DN
16 V

SOL'N:

Find the absolute voltages at all the labeled nodes in the above circuit.

Starting ot the reference Nede ; we
]

step by values of voltage sources that

cehnect noded,

Note: The Aifference in absolute voltage
between +wo nodes 1s egual to a u.o['t'n?e
seurce  value if Hhere is only a voltage
Saurce between +the nodes. Lf dhere
Ld alse a resitsbar  Ln series with +the
veltaae source, +the difference in the node
valtage s Ls typidally net egual 4o the
valtage searce value. (The exception would
be he rare dase when tHhe durrent Cn
the resistor s eﬁwa( to  2ers,

H X . |
ere , every nodes happen s +to be
Connected to anether nadle b/ a  voliqe
. ) v
Source, (w iAot a  ceries f-csLS'{.cr).



'Thu;.%) Vg = eV, ow'mj to the 6V Source,

We alde clhzerve +hat noded connedted

b)/ wires are reall y @ sinale  nade.

Thus, +the node above *the 9V mourte 3 V.
Vo, = TV

From *he v, nede, we step *o +the

remalin L"j nedes:

Vi = AV — 85V = 4V
Vi = a9V + 10V = 19V
Ve = AV = 6V = 3V



